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1. Write down the complex conjugate of z when z is:
(a) 3 + 4i (b) −4− 3i (c) 2− 6i

2. Simplify.
(a) i4 (b) i9 (c) (8 + 4i) + (2− 6i) (d) 3(8 + i)− 2(3− 5i)

3. Solve each of the following.

(a) z2 + 2z + 4 = 0

(b) 4z − 3− 2z2 = 0

4. Evaluate.
(a) (3+i)(2+3i) (b) (4−2i)(5+3i) (c) (3−2i)(7−5i) (d) i(2−3i)(i+4)

5. Express in the form a + ib, where a, b ∈ R.

(a) 2+3i
4−i

(b) 8−i
2+3i

6. If z = 3 + i, find the value of z + 1
z .

7. Simplify the Boolean expressions.

(a) (A + C)(AD + AD) + AC + C

(b) A(A + B) + (B + AA)(A + B)

8. According to De Morgan’s laws AB = A + B, and A + B = A ·B.
Use this knowledge to simplify the following Boolean expressions.

(a) C + BC

(b) AB(A + B)(B + B)

9. Draw truth tables for the following:

(a) A + BC.
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(b) (A + B)(A + C)

10. Draw logic circuits for the following:

(a) (A + B)C

(b) A + BC + D

11. Convert the following truth table to SOP and POS expressions.
A B Z
0 0 1
0 1 0
1 0 0
1 1 0
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